


序号 零件代号 零件名称 数量
1 CCA405001 托木台A4 1
2 CCA105103-1 手把A1 2
3 GBT70.1-0840 螺栓全螺纹8.8 M8x40 2
4 GBT95-08 平垫 8 18
5 CBC40113 夹子 3 2
6 CCA200205 手把销轴A2 2
7 ECSB19 手把套 4
8 GBT6172.2-06 锁紧螺母 M8 4
9 GBT95-06 平垫 6 4
10 CCA106011 左护手把A1组合 1
11 CCA105011 右护手把A1组合 1
12 GBT6172.2-08 锁紧螺母 M8 2
13 CCA105104 右夹木抓A1 1
14 GBT818-0616 十字槽盘头螺钉 M6x16 4
15 CCA105105-A 手把护圈A1 2
16 GBT12-0825 半圆头方颈螺栓 M8x25 2
17 CCA106104 左夹木抓A1 1
18 GBT96-08 大平垫 8 2
19 CCK00012 三星螺母(黑) 2
20 CCA00129 刀架管圆堵 2
21 CCA402001-A 刀架A4 1
22 CCA00126 方星形手把M8*35(黑) 1
23 GB923-88 盖形螺母 M8 1
24 CCA100108 夹紧套A 1
25 CCH00116 滑板H1 1
26 CCH00117 滑板H2 1
27 CCH00118 滑板H3 1
28 CCH00119 滑板H4 1
29 GBT6172.2-10 锁紧螺母 M10 8
30 GBT6172.2-04 锁紧螺母 M4 2
31 立劈三相相开关 1
32 GBT818-0460 十字槽盘头螺钉 M4x60 2
33 CCA419001-2 CCA4电机 1
34 GBT95-10 平垫 10 12
35 GBT5781-1030 螺栓全螺纹 M10x30 4
36 CCH00202 直角油嘴H 1
37 QB00SG001 双钢丝喉箍 20～26 4
38 GBT93-08 弹垫 8 14
39 FBJ00102 耐油管 16 1
40 CCA450001 直角油嘴A4 1
41 CCA200211 短油堵A2 1
42 GBT818-0610 十字槽盘头螺钉 M6x10 4
43 GBT96-06 大平垫 6 4
44 CCA403001 泵罩A4 1
45 CCA300021 上行油管A3 1
46 GBT70.1-0835 内六角圆柱头螺钉 M8x35 2
47 CCA650004 阀A6 1
48 CCA400025 工作油管A4 1
49 CCA650103 油堵A6 1
50 CCK100218 油嘴盖K1 1
51 CCK100208 封油环 1
52 CCA401001 机架A4 1
53 CCA414001 轮轴组合 2



54 JBT982-16 组合平垫 16 1
55 GBT5781-1625 螺栓全螺纹 M16*25 1
56 GBT91-2525 开口销 2.5x25 2
57 GBT70.1-0820 内六角圆柱头螺钉 M8x20 8
58 S080-20-021 轮子(黑) 2
59 GBT95-16 平垫 10 4
60 S08010101 轮盖(108C) 2
61 CCA400103 长轴A4 1
62 GBT894.1-22 轴用弹性档圈A型 22 4
63 夹子 4(短) 1
64 CCA400011 拉管(组合)A4 1
65 CCA100018-1 拉杆A1 1
66 GBT5783-1035 螺栓全螺纹8.8 M10x435 4
67 CCA00109 锁紧手把 4
68 GBT96-10 大平垫 10 8
69 CCA100101 拉管调整垫 2
70 CCA438001 油缸A4 1
71 CCD00103-A 短轴D 1
72 CCA109001 操纵架A 1
73 CCA100211 油堵A1 1
74 JBT982-20 组合平垫 20 8
75 CCA400022 差动油管A4 1
76 CCA100208 套环 1
77 CCA418001 齿轮泵A4 1
78 GBT70.1-0830 内六角圆柱头螺钉 M8x30 4
79
80


